mrq = 1400 GeV

mrq = 2000 GeV

Signal o [pb] Z o [fb] Z
Scalar

Pair 024704 05 0227035 0.0
Single, A =1 11570 1.3 0.6470% 10
Single, A =25 9.172§ 17 18711 1.7
Nonres. 7012 3.4 63729 3.5
Total, A = 1 17778 09 9.6783 1.7
Total, A = 2.5 43118 2.9 62729 3.4
Vector, xk = 0

Pair 0247535 0.0 0247035 0.0
Single, A =1  1.0075% 1.2 0.6070% 1.0
Single, A =25  9.1%%5 15 25712 1.4
Nonres. 58118 3.5 51118 3.5
Total, A = 1 12713 08 77734 1.7
Total, A =25 122774 1.8 4311 3.1
Vector, xk = 1

Pair 0247535 0.0 0247035 0.0
Single, A =1  1.0075% 1.2 0.6070% 1.0
Single, A =25  9.17¢5 15 25715 1.4
Nonres. 58118 3.5 51118 3.5
Total, A = 1 04270 00 13712 0.5
Total, A =25 122774 1.8 4311 3.1




